Grammar Notes 828 1 5§ A

| . Comparison of two items: Adj.

| . Comparison of two items: Adv. +V

| . Comparison of two items: "X is/does notas~asY."
Il . Compound : {V-stem/Adj-stem} + 9 &% "do/be too much"
l1l . AX*B"A and B among others; A and B and so on"
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| . Comparison of two items: Adj.

(MAXEYE, EE5(OR)NAC | .
"Which is more Adj.,X or Y?"
B(Y&RW)XDHEAAM | .
"X'is more Adj. (than Y)."

Notes:
1. You may also answer the questions by saying "both are.../
neither are...".
EE58H5VWLVT T,
Both are good
EE58HBVWLLHYFTEA,
Neither is good.
2.Fr&andE2 &
aREOREF, FTAXUADRKYFT2E/FGLTIT &,
Houses in Tokyo are more expensive than thos in the States.
b.ZED5EH 2N 21FE, SEREE2£HDO2VTTRE,

It was hot yesterday but is is much hotter today, isn't it?

n\

AN=N—REMITE, EE558HFHEVTTH,
Which is older, Harvard or MIT?

B(MI T&KW))N=N—ROAHNFEHEWTT,
Harvard is older (than MIT).




LA L ¥ 5--Make up questions and answers:

. T—=F. N1 8LLLV

. INA, BATD: NAYFE

. BREES, & (money): K17

. KEEH., €8H: 2550

A W N =

| . Comparison of two items:Adv. +V

QA XEY E, EE5(DOR){N/ZITINEYAdY . +V
"Which does one do more Adv., X or Y?"
B((YKRW)XDH{H/I&ITINEYAdV . +V
"One does X more Adv. (than Y)."

h\
ABFEI—b—t, EE558LARAFETH,
Which do you drink more often, tea or coffee?
B(d—E—&kW)BENFELLARAET,

| drink tea more.

LA L ¥ 5: Make up questions and answers:

1. B, % B<FHFET
2. 12, TV E<TAEBND
3. 55, EL&DLA: L<HETS

| . Comparison of two items: "X is/does not
as~asY."

B)XEFEYEFE{Ad]j./Adv . +V}Neg . "Xis/doesnotas~asY."



h
TATERERFRRSSKYBEVLWVWTT A,
Is sukiyaki better than tempura?
B:LWX, TERERXRISBEEBSVLLLHYEEA,
No, it is not as good as tempura.
2.CDAER, FIOASBEEREAI AL SBVWERVET,

This job takes less time than the previous job.

LA L ¥ 5--Respond with L)LV A answers.

COOAVEI—ZREIYF UMY IKYFEVRTVTTH,
SI—RPI—-0BMEAL)ENVTTH,
oaA—RJTYVYOKRY EFICHEAEEZFE LEITH,

ll

w
ll

Il . Compound : {V-stem/Adj-stem} + 3 & % "do/be

too much"

Formation:
BES5+39&ED -BLWTED
METD+FTED-MBLTED
BW+TED SEBIED
WW+TFED KTED
TRE+TED -TRITED

i\

1LZEDOSODTANE, CFALTEXRLIED,
Was yesterday's test too difficult?

2HDF, EEZZBNTEDRAL®HYEEAD,
That child, doesn't s/he eat too many eggs?

AN AEZELTET, BRICK 21,
He became sick from working too much.

AN LR, RICRBE&2ERFEXTTNOTES DL
BEEKLTTELVEREAD
As 7 AM is a little early for me, could you make it a little later?




LA L ® S--Fill in the blanks with the appropriate forms.

ZDO T ¥ Y (T-shirt), (K& .
HEE. B FEED) ALRBV\TTH,
Anig, HEE(T3) T, mRICE 1,
BOERE. FICRSB &2 E(RW) 7.

O bdh =

11l . AX®B "A and B among others; A and B and so

on

Note: X is used to combine two or more Nominals.

Compare:
BFREODA—E—ZLEOKEL I,
| ordered tea and coffee
BEXI—E—ZLEOKEL

| ordered things like tea and coffee
BFEELD—E—ELEOKELI,

| ordered both tea and coffee.

A L ¥ 5--Respond to the following questions using *°.

1. ICRAICAZRNET A,
2. ZOUVZALLE, PRUBDAEFRTVERT A,
3. SHE., EhIlZ2VWXRL LD,
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1.82h<

a.(because special effort was made...)



oM< BARFEMELLEOELAS, —EBRBERATELVTT,
b.(used to politely decline an offer)
Eo2ALKTEN, SHRILLLT...(ATHEEA, )

2.% 2 T17< (bring/take something)

BERFICKEEDEE>TITELEL &S,

Let's bring fruits as a souvenir.
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